Landing gear drev 1.0

The kit uses the later wooden landing gear design. Previous to the wooden landing

gear was the steel tubing which proved to be a poor design. The landing gear is a busy
area, in that, a lot of components s upport each other and require they  be in the
correct location. Yes, th e wooden landing gear will be a little challenging. Take your
time and understand how and why the parts are going together. You will need to drill,
sand, solder, cut, bend metal and wood rather exactly.  The fuselage will need to be
framed up prior to starting the landing gear. The land ing gear will be built to fit ~ your
fuselage.

Some functioning landing gear features o

Metal hinged fairing door cover
Bungee cord axle wraps
Landing gear cross flat wire s

1. Locate the following parts -
4.21 8 metal front fitting 82 pcs
4.22 d metal rear fitting 02 pcs
5.53 dwood front strut 02 pcs
5.54 dwood rear strut 92 pcs
5.102 o wood upper frontinsert 92 pcs
5.103 d wood upper rear insert 82 pcs

2. Temporarily lay the wooden parts over the side view of the plans. You can see how
th ey assemble. The wood parts are longer than the plans. This is by design. You
will build a Port (left side) and Star  board (right side) landing gear . Notice that
the front wooden strut 5.53 has the curved on the propeller side. Each strut has
a routed out notch at the top  which will be on the inside of the landing gear.  Make
sure you orient the struts correctly.

3. The steel fittings 4.21 and 4.22 are pre  -bent. They might need a little adjusting.
Overlay the fittings in the front view found on the plans checking the bent a ngle.
Make any adjustments as needed.

4. Prime and paint steel fittings 4.21 and 4.22 prio  r to installing them into the wood
struts. Depending on your subject plane some were painted black or PC10. See
photo below showing the parts being primed &



5. When complete the landing gear can technically be removed from the fuselage by
removing the four screws 6.21 and undoing the two flying wires 0 A OThe metal
fittings would stay mounted to the fuselage and you would slide the wood landing
gear off. Not sur e how often you would need to do this but it is possible. The
prototype has never done this but itdés good

6. The steel fittings 4.21 and 4.22 are inserted into the strut top cutout then you
will glue the wood inserts into positi  on. By design inserting the metal fittings is
real snug. You can support the fitting on a hard surface pushing the wood strut in
position. You need to ensure the top holes for screw 6.21 align as well as the
fitting is positioned properly. At this time insert the fittings into the four wood
struts making the two Port and Starboard struts. If you want to be able to
remove the landing gear as a unit then you need to ensure these fittings can be
removed after the rear wood insert is installed. P hoto belo w shows finished
fittings installed @

7. Using wood glue, such as, Titebond install the wood inserts 5.102, 5.103 into
position. You can use a piece of scrap wood and tap the inserts in place using a
hammer. Inserts should be flushed with the wood stru  t. Some minor sanding
might be needed if the insert protrudes above the wood strut. Remove excess
glue. Clamp parts, let dry overnight.  See photos below &



8. You will now assemble and glue the front and rear wood struts together using your
fuselage as a template. You can either do the Po rt or Starboard side first, it
realydoesndot matter which side you doonitsi rst.
side. Position, attach two wood struts using some screw / nuts 6.24, 6.40 and
6.10, 6.11 to the fuselage. Ensure you have the righ t struts in the correct
orientation . Ensure they meet together at the base with no air gaps between the
wood if possible. You can use a large triangle to ensure the front strut is straight
and perpendicular to the bottom longeron. Use wood glue; glue the front and rear
struts 5.53, 5.54 together then clamp  tight. Let dry overnight. ( the triangular
part 5.55 will be added later on a flat surface)  See photos below o




10.

Remove struts from f uselage. Flip fuselage over and repeat for the other struts.
Remove struts from fuselage when dry.

Add the center wood piece 5.55 ensuring that the top is horizontal in  -between the
wood struts; double check orientation . Place the strut assembly onto a flat

surfa ce. Secure the struts to the building table. Glue the wood piece 5.55 into
position with minimum gaps cleaning any excess glue. See photos below o

The aluminumfitting s 4.75 and 4.98 will wrap around the top part wooden strut.
Clip the m out of the aluminum sheet carefully remove any metal burrs (small tabs)
that migh t be present. As you wrap the fitting around the strut the fitting edges
should meet. Where the fitting edges meet you will have a seam. You can add
some epoxy over that seam creating a welding look when the metal fittings are
installed permanently.



6. Line up the metal fitting s with the top hole and mark the bottom three holes. Do
this for all four upper fittings.  See photo below o

7. Using a 5/64 -inch drill bit; dr ill thru the wooden strut at these marked locations.
See photo below &




8. The eyelets #6.20 and washers #6.23 are meant to be glued in place when
inserted into the strut. The y will go on the front and back side  of the strut
fitting. You will need to  wrap the aluminum fitting around the wood strut so the
metal fitting hole s line up with the wood holes. First, assemble the eyelet and
washers now using parts 6.20 and 6.23. You will need 24 of these. See photo
below &

is

9. Do not glue anything in place yet. You want to check the eyelet/washer locations
first . Start with any strut adding the metal fitting in position  add three of the
eyelet assemblies on the front(outer) side. Make sure the  fitting is snug against
the wood. The three eyelet fitting h  oles on the back side should line up to the

wood holes. I f they dondt and | ook | i keedges
to help accom plish this. Add eyelet/washers to the back side test fitting all
locations. The eyelets should seat all the wayd o wn . They shoul

other. In case they do file the eyelet stem a little to fix that. See photo below

wonot

dnot
o)



10. Once you are happy with the upper strut fittings, eyelet and washer assembly.
You can paint these components satin or semi -gloss black b efore permanently
installing them in place. You should brush the wood struts with amber shellac
paint. At this time paint these parts then permanently install these pieces to the
wooden struts using wood glue adding some epoxy over the seam. (some of th e
remaining building photos are unpainted for clarity)  See photos below 9

] ",‘.

H\\nn al Finish & Se. alep §
\ qdo T ulnn nal y Sellady,

11. Form the bo ttom landing gear fittings #4.23, 4.24 next . The outer fitting
#4.23 is formed first. To ensure that this fitting wraps around the landing gear

correctl y you must place the two inner fittings #4.24 in position. The landing gear

is pre -drilled to help you properly locate these fittings. To keep the fittings
aligned and from sliding you will temporary insert two 4  -40 screws #6.24 and two
6-32 screws #6. 26 in place. Reference plans. Start bending the outer fitting
around the landing gear keeping the fitting snug against the landing gear. Using a
hard surface will help.  Continue bending until the screws can go thru both fitting
sides. Form both landing gear fittings #4.23. See photos below &



12. The inner fitting #4.24 edge needs to be bent around the axle slot. The best way
to do that is to secure the fitting in place , use a small hammer bending the inner
edges around forming the fittin g around the axle slot. Add the outer fitting and
the 4 -40, 6-32 screws. Add hex nuts to the four screws securing the fittings.
Using a small hammer, carefully hammer the metal edges into the axle slot.



Ensure you have the landing gear supporte d correc tly. Do both landing gear
fittings. See photos below &

13. Drill holes for the eyelets  #6.22. Note that these eyelets will not go all the way
through the landing gear. You will use two for each location; one outside and one
inside. Using a 3/ 32 drill bit, drill thru holes at all eyelet locations . Using a 7/64
drill bit, drill three thru holes  for the three 4 -40 screws #6.24 . Reference the
plans. You can test fit some eyelets and screws if desired. Do both landing gears.
See photo s below &

14. Remove the screws, eyelets and fittings. You should keep track of which fittings
are port and starboard side. The fittings should be primed and painted. Use matt
black for fittings. See photo below -



11. If you have not stained the wooden land ing gear now is the time do that.  See
photo below &

12. The copper eyelets and 6 -32 hex nuts should be painted matt black. The eyelets
are glued into place with wood glue. Easy way to accomplish this is drill some holes
into cardboard, add eyelets and f lange nuts. See photo below o



